Definite Integrals as limits of sums:
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Question 3:
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Let L represent the given limit. We have,
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Question 4:
Find the sum of the series
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Solution:  The given series can be written concisely as

Comparing this with the right hand side of (1), we see that S can be expressed as the integral of a
function f(x) =

from O to 2, because since rvaries till 2n, r/n varies till 2. Thus,
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Question 5:

Find the sum of the series
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Solution:
Concisely put,
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As discussed earlier, 5 can be written in integral form as




